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General Instructions :
(i)  All questions are compulsory.

(ii) Questions number 1-5 are of one mark each. The answers to these questions should
not exceed 20 words each.

(iii) Questions number 6-10 are of two marks each. The answers to these questions
should not exceed 40 words each.

(iv) Questions number 11-16 are of four marks each. The answers to these questions
should not exceed 100 words each.

(v)  Questions number 17-21 are of five marks each. The answers to these questions
should not exceed 150 words each.

(vi) Question number 21 is a map-based question. Write its answers in your answer-
book.

(vii) Questions number 22-27 are of six marks each. The answers to these questions
should not exceed 150 words each.

1. afc =l SoR ¥ Gatyd fafafed w2 § @ SF 91 U6 T6l 181 § 2
(a) € YSTUfd T Ar=as fove o s faursi &1 udis ot |
(b) TR THT fgda fava g o A T fohar T |
(c) TN ERT W 9 TR, 1989 i g fam |
(d) I STHT & ST 9T o TehIghIoT T Uelieh T |
Which one of the following statements about the Berlin war is false ?
(a) It symbolized the division between the Capitalist and the Communist world.
(b) It was built immediately after the Second World War.
(c) It was broken by the people on 9" November, 1989.
(d) It marked the unification of the two parts of Germany.

2. 3NN (TUEEUTEA,) i LT 0 i TS 2
Why was ASEAN established ?
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T H W 3G AT B & SR FT — IS AN H AT ST THH R H A
TATEROT Tl SR 2 1
Which one of the two is more essential — construction of mega dams or an
environmental movement that opposes it and why ?

T RUET St U 3 FTE & AR Tew fobT 31 Tl B W T o ARt o 2 2 x5 = 1

Which two objectives Jawaharlal Nehru wished to achieve through the strategy of
Non-alignment ?

Taueh! 3TiRTeT & Waltyes 3T U&e] Hl IR T | 1

Highlight the most novel aspect of the Chipko Movement.

I I i el &1 T S faRiodret T Soei@ HiT | 2x1=2

Mention any two major military features of the Cold War.

“TIAT YR & =T TSI ol THET o 9 H 7] S@d &; o TSI bl THET o FHTEM i
IUE g & 17 3T 39 9 T R dh Feqd & ? 2

“The leaders of the newly independent India did not see politics as a problem; they
saw it as a way of solving the problems.” How far do you agree with the statement ?

fefetEd o el et iy 4xV2=2
(A) (B)

(a) TSI ¥ URA foemers e (i) % ASEER

(b) 1974 | ¥oTel I ESATA BT Aged [T (i)  STANGHIST ARE0T

(c) Te® UhHed W INHe 84 9 bR (iii) SToT HAieH

(d) Yo fearee # | (iv) IR T, ¥
Match the following :

(A) (B)
(a) A politically controversial appointment (1)  Charu Majumdar
(b) Led the Railway strike in 1974 (1)) Jayaprakash Narayan
(c) Declined to join Nehru’s Cabinet (ii1)) George Fernandes
(d) Died in police custody (iv) Justice A.N. Ray
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9. BT 1950 % IR H, I97 o T EEHT Bl AR YR OGS [T 4T o, eifeht UsTe
W 1966 T FAleT T B! el 2 2

While the rest of the country was reorganized on linguistic lines in 1950s, why had

Punjab to wait till 1966 ?

10. YA YR 1 G Hd SR el qe G AT 727 2 2

How was the reorganization of North-East India completed and by when ?

11. =9 ol 7% 376 AT = o IR ORIl § < i 3TIeTee i o Tgam 2 4x1=4

In which four ways did the new economic policy of China benefit its economy ?

12, THAR SeRMe 91 € 2 39 & M faray | 1+3=4

What is Amnesty International ? State its main functions.

13, <afvess U | 1 A & 2 TE Fi Fel A § {6 Afvas st i g & w6 W)
ST WA ST &l & 2 2+2=4

What are ‘global commons’ ? Why is it said that international cooperation over the

global commons is not easy ?

14, R I HEF Ul H W 37 39 H THEeAd T o S0 9 69 TR i & 2 T
aﬁﬁQl 4

What distinguished the dominance of the Congress Party in India from other

examples of one party dominance in other countries ? Explain.

15. SR i [ia Teiereen & Hisel & YHE TR T ST URIgTT ity | 4

Critically examine the major outcomes of the Indian model of mixed economy.
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16. 1977 & TAE ! ST T 7 FHT U 1975 H THIT T UIAH & FIR SIS TIE FHl
w9 ¥ {53 2 =ren S | 4

How did Janata Party make the 1977 elections into a referendum on the Emergency

imposed in 1975 ? Explain.

17. ST T FEaRT i SAMYdh gl 3R H=iaiad Je=t & 3T I 1+2+2=5

T I T YSTaTEr STITe St SR Qi e T o1 | TehT Taetd o1 o 39 IR &l

B GO T qX X8 ST U | “Tiieh U ol Fe i AT o o Mfeshad bt de v

T ST T B | 39k ST T59 bl TURT o TSTIehR0T SI] SATediash @iied o ere

T A A B G A o | GfEH EE B ST B F SKel T SR et

U W Gl IE §E | 3T GhHT H Tohelt f Siehfeueh et a7 A & i o T8l AT

= |

() U S 390 % A foafay = 1ot oo 5 93 e 9 uRed o T o |

(i) QHfEs ®Et B ST wHT S T TEAT ST A7 2

(il) TR THEr T T Dt PiT GEAET Fal o, O STIEn & AT e & few
UE 3 TS B H & 2

Read the passage given below carefully and answer the following questions :

Each of these countries was required to make a total shift to a capitalist
economy, which meant rooting out completely any structures evolved during this
period. Above all, it meant that private ownership was to be the dominant pattern of
ownership of property. Privatization of state assets and corporate ownership patterns
were to be immediately brought in. Collective farms were to be replaced by private
farming and capitalism in agriculture. This transition ruled out any alternate or ‘third
way’.

(1) Name any two countries which were required to make a total shift.

(1) Why were the collective farms to be replaced by private farming ?

(ii1)) Since the ‘third way’ had been ruled out, what were the only two ways of
controlling the economy ?
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18. TS T STaaRT T LAMYd Uigd 3R FHfeiad ueat o 391 1Y 2+2+1=5

T WUT-TReA foraR I8 & foF S9eliehion & ShRUT I Y &THAT AT DRI bl ST AT

T 3H X B A T HHT A § | G 3T T HedUIHRT I9F RN 3 [T I TE §

3 TR e FAdH eEIHRI T5T 5 of off € | T5F 379 F5h T HIAl b &l 39

T T €, S B SR T Sl S AT TT 30 ARG i GERT AT | 39 T

% TS ST I Ugel & e UH olloh-HodTITh T T e forar & STt oer anfaes ik

HTITSTeh-HeT0T BT AT | Ah-heaUhRI 5T i STE 379 IR 3T IR GrHmsih

RT3t T T FEReE & |

() T T GAA Y HH AT T IIEI0T FRT T IS8T hl ARG T DT |

(i)  “FHeATITRRI ToT i UROT T T “ITaH e&TeTHRI T FT of T & 2

(ili) ST T Uehe QAT MTTHehaTstl sl YT eRey o= a7 & 2

Read the following passage carefully and answer the following questions :

At the most simple level, globalisation results in an erosion of state capacity,
that is, the ability of government to do what they do. All over the world, the old
‘welfare state’ is now giving way to a more minimalist state that performs certain
core functions such as the maintenance of law and order and the security of its
citizens. However, it withdraws from many of its earlier welfare functions directed at
economic and social well-being. In place of the welfare state, it is the market that
becomes the prime determinant of economic and social priorities.

(1)  What do the words ‘erosion of state capcity’ imply ? Explain with the help of
an example.

(i) Why is the concept of welfare state giving way to a minimalist state ?

(1i1) How has market become the prime determinant of social priorities ?

19. = ST T STeaR0T P a7 FEfetEd TeEt o 39% I 2+2+1=5

qRA = S YT Tl IRHT] URIST0T AT o S SH Mgl TRpeIor R feam | 9Ra

T AT o1 fob g STUpIfeRT 1 Fah Srifqgul SReal § TRmIT S i ST A o Uid g8

Toheq & | 5T ook TR qdieqor f5ham 7T o 9 SR ERe] XIS o fofeTsT | SISl hia o |

1973 H RE-TNEA IF 3T 1 | 3Hh a8 [ fovd § T & foTu STeTeh 7l goTl & | 3RS

UL A O & I H TR gl G e | 9IRA T a5l © ST greret ¥ R T | 9Ra

o YERITT Sgd SATRT 9 TS |

(i)  YRT = YU Ygel TET] URIET0T e Toha 3R ol 2

(i) 9RA = ST RETI] GET0T ST, S et i YR ol o] TSI I, T Hic HIel
HT AT A & 2

(i) 1970 % 33 P URY H Hicd g RIGT HAT & HRUT YRS H HeTE 5gd 9¢ 1T
off 2
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Read the following passage carefully and answer the following questions :

When India conducted its first nuclear test, it was termed as peaceful explosion. India
argued that it was committed to the policy of using nuclear power only for peaceful
purposes. The period when the nuclear test was conducted was a difficult period in
domestic politics. Following the Arab-Isracl War of 1973, the entire world was
affected by the Oil Shock due to the massive hike in the oil prices by the Arab
nations. It led to economic turmoil in India resulting in high inflation.

(1)  When did India conduct its first nuclear test and why ?

(i)  Why was the period, when the nuclear test was conducted in India, considered

to be a difficult period in domestic politics ?

(i11)) Which international event of 1970s was responsible for high inflation in India ?

20. e U T A T YA 31T HINT 3R H=Terad W & 3T SIS
2+1+2=5

ﬁ VP/H:@

SINCE 1989

' / ;‘
,' ’ x MW 0;:“\‘
= \‘)Vr ’l’ & "
¢ k s'* M"o f “ LA
() T T FA T el IR UL AqTst Bl UedH IS T U Bl A T ot
fafaT |
(i) 9RA % TEM Tl o T H =01 7. 2 % Hhel & Jad [GaTeRag J&7 941 o7 2
(ili) 1989 & ol T FaTeH |, s T Uh & Aged alet JoT i edfel 3 off 2
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Study the cartoon given below and answer the following questions :
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(1)  Identify any four national leaders from the above cartoon and mention the serial
number of each.

(i)  Which was the most controversial issue of the period related to leader No.2 as
Prime Minister of India ?

(ii1)) What was the position of the party led by leader No.l in the Lok Sabha
elections of 1989 ?

A FfeRad weT heet giesTted atenteat o fofg e Ter 20 & ©&H W |

2+1+2=5
(20.1) 1984 & T QT aTem | fohd o7 F HallTaeh | STl 37 fehdeh Fed | 2

(20.2) 1990 T AT [T i WEHR = Hi AT Faltash foemsres o= fomr 2
(20.3) Tohe T =it 3 AT 3T GERT ! YT Sl T7 THERT N TR Feha 2

Note : This following questions are for Visually Impaired Candidates only in lieu
of Q. No. 20.

(20.1) Which party had won the maximum number of seats in Lok Sabha

Elections of 1984 and under whose leadership ?

(20.2) What was the most controversial decision taken by the National Front
Government in 1990 ?

(20.3) Which Prime Minister started the new economic reforms and what was
its outcome ?
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(iii)
(iv)
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TR & TE GEAT BT HHH He e Tew

T HT AT

Ueh, HewelqUT J91 O] SH STeTOT TIRTAT shr AT Tl FHel S |

T 291 H Al oFerel el W@l & |
=9 39 4 Afep qen 18 S U & IS B E |
o€ T ST GerHT+eh TSTel ©T & |

T 510 T ST 1968 T Teh Fooid T |

Sx1=35
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In the given political outline map of South Asia, five countries have been marked as
@, , @, @ and @ Identify them on the basis of the information given below

and write their correct names in your answer book along with their respective serial
number of the information used and the concerned alphabets as per the following

format :

Sr. No. of the information | Alphabet | Name of Country

(1)  An important country but it is not considered to be a part of South Asia.
(1)) The country has a successful Democratic System.

(1i1) This country has had both Civilian and Military rulers.

(iv) This country had Constitutional Monarchy.

(v)  An Island nation which was a Sultanate till 1968.

A FAfEd W Foe giearfua q@enfeml & o w9 21 % ©H W
gl 2+1+2=5
(21.1) Sfagor uferen & O HiF-HA T 7 IMH foRT ST § 2
(21.2) TeToT UfYRT I H S 90 H Ak e TheAdIes I &l § ?
(21.3) T8 (SAARC) T1 TTRT (SAFTA) % fogd &9 feifan |
Note : The following questions are for visually impaired candidates only in lieu of
Q. No. 21.
(21.1) The expression ‘South Asia’ usually includes which countries ?
(21.2) Which two countries of South Asia have successfully operated

democratic system ?
(21.3) Write the full forms of SAARC and SAFTA.

22. Witodd 99 W Fiiaad T i [l di WehRIcHe a2l - "ehRIcHe [a9TodT3ll Tl ISR
HIfT | 3+3=6
T
IE Fel FEl I Srad & o U I & SN, RCT TSEHT Sl TR Temidaa &
STEAT 3R BT I Bt Y B o 0T & BT &7 2 ST Hiog | 6

Highlight any three positive and three negative features each of the Soviet system in
the Soviet Union.

OR
How far is it correct to say the international alliances during the Cold War era were
determined by the requirements of the superpowers and the calculations of the
smaller states ? Explain.
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23. TR ST T & QT YRA & T fFT TR o g I1f8T 2 39 9K H, YRA & 37T

q fafi= gfteshion 1 faveryor HIT | 3x2=6
rear

U fohdl I TS BRI 1 GodishT HISTT ST AU G i SMIH TeaT arel T2 |

TET Y, Tk ASTITR & 3 & 10 STEmE € | 3x2=6

Analyse the three different views within India about the type of relationship India
should have with the United States of America.

OR

Evaluate any three major factors responsible for making the European Union a
political force from being an economic force.

24. Y Th=l A RIEE TAAOT HGAT 1 G0 HIT 78 Tt Fder 51 bt & 519 @t

391 T et & Y | 3x2=6
rerar

ITRT GRET hl YRR GRUT F .7 A € 2 TF TR ! G o {ohel q awa & aue

I | 2+4=6

Describe any three international challenging issues that can only be dealt with when
all the countries work together.
OR

What is meant by traditional notion of external security ? Describe any two
components of this type of security.

25.  “&T HE I HEAT 3 AT & YR 9T 9T TG] & TS T, Teh cAlehditieh el & €9

H 3@ T 1 3] U it (g H % ol g dF SUgeR deh QT | 3x2=6
rerat

WAAA F ITA IRA § AN S ATt h b & Hieet § Hatad WeRtd oo

FGEHI o [T &= T TRIE0T SHIT | 3+3=6

“The accommodation of regional demands and the formation of linguistic states were
also seen as more democratic.” Justify the statement with any three suitable
arguments.

OR

Examine the different areas of agreement and disagreement with respect to the model
of economic development to be adopted in India after independence.
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26. A FEIGY VMG I Jog & UvaN, a4 Ml P TEE T g § GeEes aRfefadr o
foveioor HifT | ST TRY BT T W b T H ABYEAT TS i ol el 9’

SUCATSET T ST HITT | 2+4=6
rerar

25 SH, 1975 & 9Rd H UG f&fq w6 S T SH % o Swert uRietaar &

forveryoT St | 6

Analyse the circumstances that favoured Indira Gandhi to become Prime Minister
after the death of Lal Bahadur Shastri. Mention any four achievements of Indira
Gandhi that made her popular as a Prime Minister.

OR

Analyse the circumstances responsible for the declaration of a state of emergency in
India on 25" June, 1975.

27. YRR fREM HEE §RT 96 ST oot fhaM STigie i, Qe J%al S STRie a9
oA fohel ©: HEhI T TUH T | 6x1=6

YT

&1 STHTTE AT 3! T ATl TSI 1 U S~ 37T & | 36 foaar ¥ foer aret
foe it femrait =1 2 o | 3x2=6

Describe any six factors which made the farmers’ movement run by Bharatiya Kisan
Union as the most successful popular movement.
OR

Which three lessons do we learn from regional aspirations and their accommodation
as an integral part of democratic politics ? Describe.
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